Problem 2:

Explain hybridisation of central atom in :

(1)  XeF: (2)  XeFs
(5)  SFs 6)  IFs
(9)  CHe (10)  CCla
(13)  H.0 (14)  NHs
(17)  NOs (18) COs*
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(7)
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(15)
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PCls
IFs
SiCls
PO4*
NH4*

(4)
(8)
(12)
(16)
(20)

PCls (g)
IF7
SiHq
BrFs
ClOs~
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Solution 2:

- F
.. \. ~
F —Xe— F— Sp’d. 2. Xe —_— sp3d2
7 N\f
.. Cl
P | c
/AN —— sp? sc—p=d__, sp’d
a g | ¢
Cl
F F
Fo, | F |/
F ? i~ —> P 6. IF3:—F 1 ——»spd
g I\
F ~
F
F
F
Fe | F Fell_~F
IFs: - | ——> spd? 8. IF7:— I ——> sp’d®
. F -
F
H cl
9. CHs: - / — sp® 10 CCls:— \ —> sp°
—C C—
- H cl cl
cl H
11. SiCls : - /\ — sp® 12 SiH: 1 — \ — sp*
o S'7C| W—Si—\
\I \I /
cl H
3. HO:-H” O~H__, o 14. NH —H/T\H——> sp®
i
. F
Sps II Fe |
15. \P 16 BrFs Br~ —— sp’d?
\ e - F
-':Q-/ \-o'.Q.
(0] o
17 O=N<O_——> sp? 18. O:C< —> sp?
H o
19. H—r:léH — sp? 20. :Cléo — sp?
\O

H



